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HW from lectm:g‘pnu 2/ 1

If you are running R you too can play along by typing in the commands. For
everybody, answer the questions.
First load the data set seahawks

> gource("http://www.math.csi.cuny.edu/verzani/classes/MTH113/data/seahawks.R")
The variables are

> names (seahawks)

[1] "Number"  "Name" "Pogition" "Age" "Height"  "Weight"  "Yrs"
(8] *College"

We can use them if we attach the dats set
> attach(seahawks)

Now for some questions. A stem and leaf diagram of the weights of the players
is found with

> stem(Weight, scale = 2)

The decimal point is 1 digit(s) to the right of the |

18 | 038

19 | 0056699
20 | 012279
21 1 O

22 | 03355669
23 | 0489

24 | 0145689
25 | 12

26 | 055

27 | 228
2817

29 | 378

30 | 35889
3113

32 | o7
3310

1. What does the comment “The decimal point is 1 digit(s) to the right of the |
mean?
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2. What is weight of the lightest seahawk? %0 1b&

3. What is the weight of the heaviest seahawk? L% | by &
239124 ¢

4. There are 56 seahawks, what is the median weight? Ywfuney 2%,24 02 2

5. Based on the shape of the distribution, would you think the median weight is =723 9 é
more, less, or about the same as the mean weight?

‘ i -
The mean WEIght is Dﬂ-’""‘ 6’&‘“"20( V_((}Mf' J So Firetin 2 &L

> mean(Weight)

(1] 244.375
Find the mean of this sample of size 5: - 26 ‘?H‘L 260 04122 e oo
> sample(Weight, 5) 5

= ‘7."-)\?‘ L

[1] 265 260 309 229 230

> table(Yrs) (e

Yrs g
0 T 10 12 1
8 i 1 1

3 5 3
4 8 3

1 i 1
“\ g % v
From this, produce a histogram of the data where you use intervals [0,2),2,4),

ete,
A table for the age of the player is

1 2 4 6 8 9
2 7 10 5 2 3 '
O

> table(Age)

Age
23 24 25 26 27 28 29 30 31 32 33 34 35 37
T 9 511 5 5 2 3 2 211 2 1
h "f_,_,.,-a--'_"-.\
From this, make & barplot for the categories 25 and under, 26 to 30 anf{ over 31.
!
S~ /
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ere are some problems based on Monday's class (2/6) LA o It 3@4’ 5 g W= ;
Excercise 1. Find the median, Q;, Q3 of the data set Meuﬁm, = 3
31415893 Gy =
C‘(';, =5
Excercise 2. Compare the mean and median for the following data . _
12 15 14 43 122 (2 1Y 15 43 2z Meoliam (9
Mepw 412
Excercise 3. From the boxplot, estimate values of the min, the max, {;, the median, and Os:
A -1
oy - b
Mo e
I S Crt N T YT a
te 2
. ; Ga, .
' vl ‘ i e I
T G, - @3 W
Media v
A

Excercise 4.  The weights of the players for the Seahawks and the Steelers can be anslyzed as

follows,
These commands produce side-by-side boxplots

source("bttp://wuw.math.cel. cuny. edu/verzani/classes/MTH113/data/steelars.R")
source("http://www.math.csl. cuny. adu/verzani/classes/MTH113/data/seahawks.R")
seahavks.weights = seabawks[["Walght"]]

steelers.veights = gteelers[["WT"]]

boxplot (list(seahawks = seahawks.weights, steelers = steelers.weights))

VoW W v v
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1. Which team had the heaviest player? = '{_‘Q&*\"E V5

2. Which team had the lightest player? NER hgwle s

3. Which team had the larger median weight? <3 *-e,f_',l‘(? Ve

4. Which was more, the third quartile of the Seahawks, or the median of the Steelers?

Feodrpusdor
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